
 

Exercices 33,34p202 ,7,8,9,10page 201 

 

 

 

 

 

 



 

 

 

  

 

 



 

 

 



 



 

 

 

 



 

 

 

 

 

 



 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

Exercices 60,61,62,63,64,65,66,68,69,70,71,72,74,75,77p204-205 



 

 

 

 

 

 

 

 



 

64a) cos (−
π

3
) = cos (

π

3
) =

1

2
                 sin (−

π

3
) = −sin (

π

3
) = −

√3

2
   

  b) cos (
17π

4
) = cos (

π

4
+

16π

4
) = cos (

π

4
+ 4π) = cos (

π

4
) = 

√2

2
 

  sin (
17π

4
) =  … = 

√2

2
   

c)cos (−
121π

6
) = cos (

121π

6
) = cos (

π

6
+

120π

6
) = cos (

π

6
+ 20𝜋) = cos (

π

6
) =

√3

2
   

sin (−
121π

6
) = −sin (

121π

6
) = −sin (

π

6
+

120π

6
) = −𝑠𝑖𝑛 (

π

6
+ 20𝜋) = −𝑠𝑖𝑛 (

π

6
) = −

1

2
   

 

 

 

  

a)sin (
π

6
) + sin (

7π

6
) = sin (

π

6
) + sin (𝜋 +

π

6
) = sin (

π

6
) − sin (

π

6
) = 0  

                b) cos (
3π

4
) + sin (

3π

4
) = cos (𝜋 −

π

4
) + sin (𝜋 −

π

4
) = −cos (

π

4
) + sin (

π

4
) = −

√2

2
+

√2

2
= 0  

 



 

a)cos (−
π

4
) − sin (

π

4
) = cos (

π

4
) − sin (

π

4
) =

√2

2
−

√2

2
= 0  

b)  cos² (−
π

4
) − sin² (−

π

4
) = cos² (

π

4
) − (−sin (

π

4
))² = cos² (

π

4
) − sin² (

π

4
) =  (

√2

2
)² − (

√2

2
)² = 0 

 

 

 

 

 

 



 

 

 



 

 

 



 

 

 

 



 

 

 



 

 

  



 

 



 

 

 



 

 


